3AC-50/8,0 3AC-50/8.0

B/I N1743 TIC "Kpabuobka” B/ N1743 TC "Kpabuobka”
R e o
|2 cek. wuH N1 N2 N3 N4 N5 N6 N7 N8 N9 1cek. UJUHl
|PH—’IO kB (npoekm.) (npoekm.) (cyw.) (ModepH.) (npoekm.) (ModepH.) (ModepH.) (cyw.) (npoeKrn) PY- 10 kB |
: ) \ PB3-10/630 | { ) l PB3-10/630 \ PB3-10/630 *_;\_“ PB3-10/630 \ PB3-10/630 ”_J,—\'_‘l' ‘\4 |
| §§ BB-10/630 BB-10/630 BB-10/630 BB-10/630
|3 £ pre % 05805/ KT-10/6 % %%%5 i GG % %ESS%SNOP _
| % 055 I KT-10/6
['paHuua danaxcobou C RSABS,._,V\ Kn. 05 PB3-10/630 PB3-10/630 Y Kn. 05
NpuHadnexHocmu \{\ MKT-10/6 10000 /100 100 10000 /100 100

¢ Kn. 05 IU.IUHHbIl] MOCM

10000 / 100 100

AABN-10 3x50
I8on=140 A (B 3emne), L~0,500 km

Coznacobaro

Baam. unb N°

Modn. u dama

Wub. N° nodn

R3<k Om

I
———————————————— | . Tp-2 ~ . Tp-1
B Movewerue cunobozol | | R < b Om X e o T11-1183 R3 < & OM e
mpaHcdopMamopa | |
T | | CM. KOMNAeKm U7—3M\|
Tp N1 T3, 630 KBA |
TMI11-630/10/0,4-91 | : | QS02 \ 630A QS01T\ 630A |
s 10@=36.4A
L 00g=JT04A || | + cugy |11 400A cunt (1] 630A |
R3 < 4 Om | | | n ONH-0 4kB cyu. cyuw. |
I S—— ] 3z
| = 1A02 Qx @ ¢ 600/5 1A01 ¢ P 600/ |
AniomurueBbie wuns 80x8 MM (b koxyxel | | 2 CeK. WUH = 1 Cex. WuH |
Bon=1320 A, L~3 M | | PY-0. «B 1 % @F-fgf % PY-0.4 kB |
| |.1,|.2,|.3 [ /;7 [ q [ [ [) —{ [) (] ® (] ® ® (] /;;/ ] |
| PEN 7 777
130aHue Bokc A A A , ,
st ! / / / / / / / / / / |
| | as1 250A QS2 \ 250A AS3 '\ 250A ASL '\ 250A QS5 '\ 250A QS6\ 250A QS7\ 250A QS8 '\ 250A as9 ZSUA Qs10 ZSUA |
R | |
00A
wumsl PY-0,4 kB
PEN —& 1 | | cya. cyw, cyw. cyw. cyw. cyw. cyw. cyw. |
T 052 fass 160A TGSA—%OA | LR oI o _ |
_ \wooor .\ rus-e0a FULT60A < | | 100/5A 400/5A 2 % |
S =0 = = L =0 v v v v 1 v v v >
so@fdse  PrdsS SSQrprd] 2 | : . . o o :
= Ny Bh @0 S N> I == . =
A\ U2 BE &5 o5 5% | z 2 - £2 =+ o|Em 2 o2 8§ o=
0007 52 crsigs || %8 <8 1 E% B h 2E8 o - 2 22 § 2= |
9 (=) (=)
C RS485 cRsks | I=vH-- Y — - — — — — — — — — — — — — — — — —
|
I
| S S
| A = ol = YenoBHble 0303HI4EHUS:
| cM. komnnekm 03-30M % % ) EI El ;: % % @ % @ = - ycmanabnubaemoe npoekmupyemoe odopydobarue PYIT “benTIN",
L4(BBI 3H2-3x240-10), L=2km |/ i g § 5| & I = 8 o8 PIK1:2;4,5 — MHOZOMAPUHLIL C4EMHUK 3NEKMPUHECKOU 3Hepaul, akmuBHLID
(3L+N) [Bon=1300A (Bo3dyx) | 2= &I g igc IpaHuua BanaHcoBod ks i A ;:a A :; rpaHuLa BanaHcoboil U peakmuBHbIU, _Elnﬂ U3MepeHUs No UﬂHUMQ_ HanpabneHu; _
o= > al i N = x| o PIK3;6 - MHO20MQPUMHBLIL CHEMYUK 3M1EKMPUHECKOU 3Hep2ul, aKMUBHLIL
| 2| > T E|T NpuHadnexHocmu sle T2 I3 npuHadnexHocmu u peakmubHbIl, D09 usMepeHust no dbuym HanpabneHusM;
Sl sgll s|lL Bl =L WAL, s :
| |_ @ =) 2N — — — — 2l 2| LIS 7 T BB - BakyymHbIl Bk Nio4amens;
1 KQMNAEKMHAs nocmabka 30aHue KomenbHas e cM_kaMnaekm 01-3M S R D cM_kaMnaekm 01-3M 03 - BenumensHost 3aWuma;
Konmelwep TTIA | | BPY2 (npoekm) BPY1 (npoekm) b —— o . | Mecma ycmaHobku dnokob MUKpPONPOUECCOPHLIX 3awum NokasaHs b koMnnekme - P3A
| 93A | | 1 1%81\ c dnokupobkol |
dosr |_ _l KNioYoMm
2 | | f f — |
@ R KOMNAekmHag nocmabka : I OF1 aF2 T oFt a2 |
63A 63A 6] 160A 1 |
QF-r } F1 | | [13-6850M = [13-6850M | - i i
1000A 2eh Pl 2| Hom=(5-100)A S o @k PK1| Hom=(5-75]A PekoHCMpYKUUS KomenbHoU C YycmaHobKou K0ZeHepauuoHHOU ycmaobku
Ilum codcmberHbix | | PHoM=24,0kBm Kn 055, € R85 PHoM=99 5kBm = Kn 055, € RSL85 |
Hux@ TIA | | Ppacy= =16,5kBm PDGC‘-I=66,5KBI‘H —_— _ | Wam | Kons | Aucm | Wdok | Modn. | Noma
lenepamop [ oueTE Llum T-127) Unom= UAKB —E- C dnokupobkou Unom=0,4kB —E— 0S2 ¢ Bnokupobkou Cmadust Nlucm /lucmob
[ PHOnS00BI 04 : | I[I_J[Jtliqg[? 0A 0 oo e 205A L4 Tooh e | (emu 3nexmpOCHaDXEHUS C 2
HoM=0 Lk ' ,
cosp=08 Cosp=08 | . . . . |
+ IHom=905,8A IHom=T27A | | IgEIL\IZ 13 EE'LNZBr ; ! ; I | CxeMa nodKno4eHus
I | |

Konupoban A2




